LCVHE F25EFHR—/IN\—XTYUNEFIEKRES

2014%2A1H~2H
FHEMEHLREERER T — b 2—

BF¥F500mE1HE [54F])

#Ho|L—r| EF4A FiE® (ZE)| 74 L (IERD) e 100m|500m| (Lap)
L IN /NG 2t |&IR4) 0:55.07 (43) 0:13.98 | 0:55.07 |(41.09)
OUT |REIR BBth|S5H®4) 0:58.80 (45) 0:14.44 | 0:58.80 |(44.36)
) IN | X% #R¥ (LR G) | 0:53.13 (41) 0:13.56 | 0:53.13 |(39.57)
OUT |#E# ZFX [&RE(5) 0:55.09 (44) 0:13.23 | 0:55.09 |(41.86)
3 IN [ BEA |Z2H(5) 0:53.09 (40) 0:13.50 | 0:53.09 |(39.59)
OUT I’BH X |#dL(4) 0:52.33 (38) 0:13.17 | 0:52.33 [(39.16)
A IN [BFH A |JIEZE—(6) |0:50.98 (32) 0:13.16 | 0:50.98 ((37.82)
OUT|#H BE |KkHH(6) 0:51.68 (36) 0:13.11 | 0:51.68 [(38.57)
5 IN |BZFE BX |£R0O) 0:50.23 (30) 0:13.19 | 0:50.23 |(37.04)
OUT [dtlR ik (mE(4) 0:53.00 (39) 0:13.50 | 0:53.00 {(39.50)
6 IN [/ EA |£IR(5) 0:51.04 (33) 0:12.97 | 0:51.04 (38.07)
OUT|FH 3% KBA(4) 0:54.65 (42) 0:14.15 | 0:54.65 |(40.50)
. IN [£R% @ |#BA(5) 0:51.25 (34) 0:12.95 | 0:51.25 {(38.30)
OUT & Kb [JIILEZ=(5) | 0:47.76 (16) 0:12.41 | 0:47.76 ((35.35)
o IN [F# K2 |[R(G5) 0:49.52 (26) 0:12.86 | 0:49.52 ((36.66)
OUT (LUl K& |/\EFEE(5) 0:47.83 (18) 0:12.47 | 0:47.83 |(35.36)
o IN |[/hM#k X ##(6) 0:49.22 (25) 0:12.70 | 0:49.22 |(36.52)
OUT ;&K K{E |5 FH(6) 0:50.06 (28) 0:12.50 | 0:50.06 [(37.56)
10 IN [JIZE K& |3E(®6) 0:50.41 (31) 0:13.08 | 0:50.41 |(37.33)
OUT |#iE Eth |[Z2H(6) 0:50.10 (29) 0:13.14 | 0:50.10 |(36.96)
1 IN [R#& —#  |3E(6) 0:51.59 (35) 0:13.60 | 0:51.59 {(37.99)
OUT [/Mk BE |1E(6) 0:47.77 (17) 0:12.39 | 0:47.77 |(35.38)
1 IN [/hR BEX |Z2H(6) 0:48.62 (19) 0:12.38 | 0:48.62 |(36.24)
OUT & %4 #BA(5) 0:48.67 (20) 0:12.71 | 0:48.67 [(35.96)
13 IN [lUAR BEX  |#EEG) 0:49.78 (27) 0:12.89 | 0:49.78 |(36.89)
OUT [# #IX JNF(5) 0:48.72 (21) 0:12.72 | 0:48.72 [(36.00)
14 IN [&K |58 |Ti#WEAmE©6) | 0:52.18 (37) 0:14.15 | 0:52.18 {(38.03)
ouT
- IN |k HFE |E)IG) 0:49.00 (24) 0:12.93 | 0:49.00 |(36.07)
OUT [#iE FAIX |2H(6) 0:47.41 (13) 0:12.56 | 0:47.41 ((34.85)
16 IN |#%  fitE JNF(5) 0:48.72 (21) 0:12.68 | 0:48.72 |(36.04)
OUT &Lt ZEE |FE+H(®6) 0:45.61 (8) 0:11.95 | 0:45.61 [(33.66)
. IN [/h#& KB |®iR(6) 0:47.61 (15) 0:12.44 | 0:47.61 (35.17)
OUT |#& A [[R(5) 0:46.99 (12) 0:12.44 | 0:46.99 [(34.55)




18 IN | [FZE |EE®S6) 0:45.93 (10) 0:12.02 | 0:45.93 |(33.91)
OUT [#aK —pk [&IR(5) 0:47.46 (14) 0:12.58 | 0:47.46 |(34.88)
10 IN |#5K FX [5KBA(6) 0:48.82 (23) 0:12.78 | 0:48.82 [(36.04)
OUT|=# RX [#dt(5) 0:45.75 (9) 0:12.16 | 0:45.75 |(33.59)
20 IN |EfE =i |=FXHI6) 0:43.14 (1) 0:11.61 | 0:43.14 [(31.53)
OUT |k IBBE |7k BA(6) 0:46.31 (11) 0:12.25 | 0:46.31 |(34.06)
- IN || fiZ NI EE=(6) | 0:44.26 (3) 0:11.68 | 0:44.26 ((32.58)
OUT |flifs TA [dLLl(6) 0:44.05 (2) 0:11.66 | 0:44.05 |(32.39)
- IN |FHE WE |JILFEZ(6) | 0:45.44 (7) 0:11.98 | 0:45.44 |(33.46)
OUT %R X |2H(6) 0:44.75 (6) 0:11.65 | 0:44.75 |(33.10)
03 IN |RHE # 23X (6) 0:4456 (5) 0:11.80 | 0:44.56 [(32.76)
OUT|[§# X |i#E(6) 0:44.54 (4) 0:12.01 | 0:44.54 |(32.53)
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